Chapter -2 g QIE':I‘

GEOMETRIC PROGRESSION (G.P)

ggfasheda g9 (Multiple choice question)

'1. aaquEEr‘lIUﬁ?ﬂ"qTW%

Geometric mean of a and b is

(a) a;b b)  ab’
©  +ab
(d) TTH ® Hig 7@l none of these

2. 4 3T 9 N MU W

Geometric mean of 4 and 9 is

(a) 6 (b) 7
() 65 (d) 12
1 1 o
3. GP\3, = , = , ..
/3 3 3 T o8t W' ligliewy
Write down the 9% term of G.P. V3, 1 R
1 V3
3\/5 9 soee
(a) ﬁ (b) ﬁ
3¢ 3
o &
(d) T4 ¥ g 7@l none of these
4. G.P. 222324, ....... T GIqdl U8 ST Ehm?
What is the 7 term of the G.P. 22,23,24,....
() 250 (b) 256
) 300 d 255
5. Toret TONR SIOT ST UEET U 5 e Wre
U -2 ¥ BST U T N ?
The first term of a G.P. is 5 and the common
ratio is -2 what is the 6™ term ?
(@)  -100 (b) 100
)  -160 d 160
6. afg HEAT 3,k 48 OUNTX AT ¥ & ¥ k
T | AT hifTa)
Find the value of k if 3, k, 48 are in G.P.
(a)  +I12 (b)y 10
(©) 10
(d) TTH ¥ Hig =gl none of these
7. x o @@ o & faT =& x -2, x, x + 3

Ui A §
For what value of x the number x-2, x, x +3
are in G.P.

(a) 6 (b) 12
(c) 5 d 4
8. 9 G.P. % dHERT U 8 & I G.P. % wad
uier Ul T TUEEA §
If the third term of a G.P. is 8, then the product
of its first five terms is
(a) 8 by &
(©) 8 (d) 84
9, g a,a+1,a+3,GP. H & @ ashl UM &
If a,a+1,a+3,arein G.P. then the value of a
is
(a) 1 (b)y 4
() 2 d 3
10. 4,12, 36,... dfoEr U9 &
The fifth term of the sequence 4, 12, 36,....is
(a) 324 (b) 342
(©) 345 (d) 354
ANSWER
1 c 2) a 3) b
4 b ) d 6) a
(7 a @®) b 9 a
(10) a
Y IWIG 9H
(Short Answer type question)
1. U TUNRR Uit T UEE UE 1§ 99T UEel A
TSl T 91T 13 ¥, Wid U F19 R
First term of a geometric series is 1 and sum of
first three terms is 13, find the common ration.
I:- a=1,s,=13
s, =13

= atar+ar’=13
=1+1xr+1xr2=13

= 1+r+r2=13
=>r+r=13-1
=r+r=12
=r+r—12=0
=r’+4r—3r—12=0
r(r+4)-3(r+4)=0



= (r+4)(r—3)=0

when STd
r+4=0
r=-4

when Sid
r—3=0
r=3 sr=—4or3

T oS Uget fad & 1, g o & 2, i

T4, <Y 7 8, W W HON WHHR w@T &

a8 120 feAi & o W feerm W 2

A boy agrees to work at the rate of one rupee the
first day, two rupees the second day, four rupees the
third day, eight rupees the fourth day and so on. How
much would he get at the end of 120 days ?

120 f&Af & o1 a% FHa wd Al

—14+2+4+8+... 120 fei o
1(1-2%) _9™—]
= S o9 =5o1 —¥2™ -1

TeRtfer (find )
2
X

X
1+ + +
1+z (1+x)2

I R 9fE x>0 (ifx>0)|

L
T

< _ _ _ X
F@la=Lr= |4 7m9qg°[r—7]+x <1

(- x>0)
. a  _ 1
W,Sw_1—¢_1_ x
1+z
0.423 &t T UE wem & wu ¥ fafEu

Express 0.423 as a rational number (or quotient

=1+z

of two integers
0.423 =0.423232323......... o TR

= 0.4+0.023 +0.00023 + ....e0 Tk
-4 . 23 23
10 71000 T 100000 T oo T
_ 4 23 1, 1
~ 10 " 10001 " 100 10000 © e |
4 2
- o l VS =0
10 1000 ,_ 1 .

100

3L

4 23 100
L —t——Xx—

101000 99
_ 4 23 _396+23 _ 419
10 990 990 990
Tt e TR 9t TEeRT arTwRe
32 ¥ A9T SHeh WY S USI T ANThT
24 T G A wiTS@

The sum of infinite term of a G.P. is 32 and
the sum of first two term is 24, find the
progression.

Seo= ——

1-r

a
femnm 2 PP

r
LRI atar=24

= a(l+r)=24

24
l—1==
(I+r)(d—r) )

3
(1+r)(l—r)—Z

=1—1 =

3
4

8]

=

1
4

-

N | —

-
I

qean a=16
TIUﬁ?R gt = 16,8,4
531 160 & e 4 TUIRR AeA TRt
Find 4 GM between S and 160
M o 5 SR 160 & o= 4 TR A1
G,G,.G,.G,® @ 5.G,.G,.G,.G,, 160 G.P
H
(Let4 GM between 5 and 160 are
G,,G,,G,,G, s05,G,G,,G,,G,, 160 are in G.P.)
t, =160

5r°=160

=  r=32=2°

r=2 (gl cr.=71)
© G =5r=5x2=10



=512 = =
C}2 S5r 5x4=20 - a—{—a/r—|—0/r2 =19

G,=5r’=5%x8=40 r
G,=5r*=5x%x16=280
4 =a+ar+ar’= 19r
3d: 5 3R 160 & <= 4 GM 10,20,40,80 = atartar— 19r=0
2 a=6% IF WA N,
Therefore 4 GM between 5 and 160 are Putting the value of a= 6
10,20,40,80. 6+6r+6rr—19r=0
= 6r’—19r+6r+6=0
7. frafafeaa G.P. w1 9 Jma wifeg .- = 6r’— 13r+6=0
Find the sum of the following series = 6r'—9r—4r+6=0
2+6+18 + .. +4,374 = 3r (2r—3) =2 2r-3)=0
S A g A OGP B = @23 (-2 =0
given series is in G.P. = 2 2
Here &1 ( first term)gerg ug (a) =3 23
. 3
( common ratio) RiC] FIAE (r) =3 (r>1) when r = —, then numbers are 4,6,9, and when
let, o t =4,374 2
t =ar™-1 2
4374 = 2,3 r= E then numbers are 9,6,4
37 — 3n-1
n-1=7 w& 1= 2, @ et 469 g qon @
n=7+1=8 2
_ar=1)
319 Now, S, = =1 2 e

r=3 T O 964 B

23* -1 2(3* -1
_ X ) _ X ) 9. frafafea 9ot & nugf 1 AR fAeRfaT

3-1 2 Find the sum to n terms of the following series:-
=3%—1=6561 —1 8+ 88+ 888+ ...........
= 6560 IW:- S, =8+88+888+...n T qF
‘ g 39U wva ( Long Answer Type Question) | (upto n terms)
1. G.P. ¥ d dE errel, TRt urwRer =8 (1+11+ 111 +.....nv& qF)

216 AT AT 19 B

Find the three numbers in G.P. whose
product is 216 and sum is 19. 8
s P 4 e =510~ 1)+@100~1)+(1000~ D) +..n

Three number in G.P.

= §[9+99+999+ ..... n| vaf e

4,

GED!
8 .
5[(10+100+1000+...ntm‘r LE

—,a,ar
r

gyq 9§ From question ,

qaxar=216 —(1+1+1+.nY9ef q&)]
B ~ -
8 1-10"
a>=216 = —|10. -
a:(6)3 9_ 1—10 ]
a=6 - -
8 10" -1
fthT 9 again = —|10. -
a 9 10-1
= —+a+ar=19 - -

r



8
= — (10" —10—9n
31 )

U ST T TG hifelT (sum up the series)
35 3 5 3 5
+

35 3 5 3 5
= ——+

1 1 1 1 1 1
:3Z+4_3+4_5+ .oo] 5[42*'44"'46*' ...... o
1 1
Vi 2
=3 x 4 —5x% 4
D R A
4’ 4’
1 1
—ax 4 5516
=3X 95 —5X g
16 1
= 3x i -5 i
15 15
I 12-5 l
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